
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

	
  
	
  
1) 3− 2𝑠 = 4− 6𝑠	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
2) 13− 3ℎ = 8− 2ℎ	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
3) 12− 4𝑟 = 5 𝑟 + 6 	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
4) 5𝑝 − 𝑝 = −28+ 2𝑝	
  
	
  
	
  
	
  
	
  
	
  
	
  

	
  
	
  
5) !

!
𝑥 − 6 = 6	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
6)	
  	
  !

!
𝑥 + 12 = −8	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

7)       
1
4 8𝑡 + 4 + 9 =

1
2 (2𝑡 + 4)	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
8)        3𝑠 − 0.5𝑠 + 7.2 = 32.8	
  

	
  
	
  
	
  
	
  

Name	
  ___________________________________________________	
  
	
  
Date	
  _______________________________________	
  



              9)             
4𝑠 − 6− 2𝑠

8 = −3(𝑠 − 5)	
  
	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

              10)              5𝑟 − 7 1+ 𝑟 = 5	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

                  11)              480𝑥 + 2200 𝑥 + 5 − 7500 = 11,540	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

12)                  2 𝑡 − 𝑡 − 1 = 7	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
13)             𝑥 − 2 − 3 𝑥 − 16 = 2	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
14)                   𝑦 − 2 + 𝑦 − 1 + 𝑦 =   −3	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  



	
  
15)              7− 3 𝑐 + 1 = 2(𝑐 − 3)	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
16)            74− 2 35 + 2𝑥 − 3 = −6	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

	
  
	
  

17) A square and a rectangle 
have the same perimeters. 
The length of a side of the 
square is 4x-1. The length 
of the rectangle is 2x+1 and 
the width is x+2. Write and 
solve an equation to find x?  
Then tell the dimensions of 
each shape and the 
perimeter of the shapes.  
What have you discovered? 

 
 
 
 

 
18)   
 
 
 
 
 
 
What is the measure of each 
angle? 
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   14x	
  



	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  


